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!5���9���$4�������5$44$�%�$�����3�$������%��44��

5���� ���5�� ��� ���� 3�4������5$�1� ��� ����2�$�1��
�5$44$�%����%��44��������5$44$�%��31����$��:;�2�;���	
!1�����%��44����0��1���9���$4������%������$00�����0��4
�1��� �0� �1�� 3������� %����� $�� 3������� 51������ �1�
�9���$4������ ���%��44��� �$00����� $�� �1�� �����$��� �0
�5$44$�%� $�����3�$��	�!1�� ����&� $�3������'<*����$��
�%��� 8� ��� /� &����	� !�� ������ ���� ���������$�$����� �
����%�%$3� �9���$4����5��� 3���$�������� $��51$31� ��31
%����� 1��� $��� �5�� ����3�$2��� �5$44$�%� $�����3�$��
���%��44�	� !1�� %����� ���� %������ �$00����3��� $�
�5$44$�%���$����5��������&����2&�4������0��������=��3)
����	� !1�� �������� �1�5��� �1��� �$%�$0$3���� ����$��$3��
�$00����3���5������������$���1��0$�����5$44$�%���$�����0
�1�� ����� ��2;�3���51��5���� $�3������ $�� �1�� �$00�����
���%��44��	� ����$��$3���&�� �1���� 5���� �$%�$0$3���
�$00����3���$���1��0$�����5$44$�%���$�����0��1���������2;�3��
0��4� �1�� 3������� %����� ���� �1�����0� �1�� �9���$4�����
%�������51����������$%�$0$3��������$��$3����$00����3���5���
�2������� $�� �1�� �5�� �9���$4������ %������ ����$��� �1�
�$00�����������$����0��1�����%��44��	�!1��3�4���$���
�0� �1�� �5$44$�%���$���� ��%���$�%�%����������� �1�5��
�$%�$0$3��������$��$3����$00����3���$���1������3������0�4����
%$�������2�&������%$���	�>�����$3$������1�����4�������$4��
3���$�$����0����5$44$�%���$�����3?�$�$�$���0����1$���%�
%�����5����4���2&�4������0��1$���9���$4���������%��44�	
"�5�������1�����%��44��1�����%��������00�3�����2�&�
�1������%$���	

���� ����	

 ���������
 ��������
 ������������
�������������
����������
��
����������

�$4��0���������&�5������0$�����4�����00�3�$��
4��1����0��5$44$�%�$�����3�$��	�>������4����1��
�����$4�3�����2���31$�����2&���4������.��.�����
4��1��$3���&�2������5�&��0��5$44$�%�$�����3�$���
51�����1�����3�����0����31$�%�$��2���������1�����
�0��������$�����������$�����$��3�$3����$3������
�?�$�4���������2&���2�������$4$�%��0��1�����31$�%
���3���	

����1��1$����&��0��5$44$�%�$�����3�$����$00�����
4��1����1����2������������������%$�%�0��4��1�
�$4����5�&��0�$4$���$�%�1�5���$4�����5$4����4���
3�4���9�4��1����2���������1��3�4���$�$�����������
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����0$����&�����1��4��1�����0�$�����3�$���2�������
�1����$�3$������0�1�4����������4���	�#�����$�3�
�1����%��$����5�&���0��5$44$�%�$�����3�$���5���
�����������?����$�����2�����1��4��1�����%$3���
��%��$���$�����������&31���%$3����00�3�$��������0
����$3������5$44$�%�$�����3�$������%��44���1���
��4�$���������5����	�!1��4�;��$�&��0����1���
�%�����1����1��4�����������$����5�&��0��5$44$�%
$�����3�$���$���1��4��1����0���3��3$����5$44$�%
3�����	���3����������31�( �$�����+//-@���%$�.
A�2���$B��+//C,�1����1�5��1�����������5������1�
����3�$���$���1����42����0�3��������$	�	�2��5���
+*����+-�3�����������������$����0�+6���&��������
4���1	��������&��0��1�����%��44����1�5���1��
�$00������������31������������1���00�3�$��������0��1�
�5$44$�%�$�����3�$����0����$������31�$?�����0
�5$44$�%	���%$B.A�2���$B�(+//C,�3��$4���1���0��
%$�����1��4�����00$3$�������%��44���0��5$44$�%
$�����3�$���$����3�42$����5�&��0��5$44$�%�(�1�
3�42$���$����0��1���$3�$�%��3�$���$���1��0�����3��5�
������������1����4��3�$���$���1��2�����������,�����
0���2�&���1��4�����������$�����������$���1��0����
3��5�	�
�D�D��$B�����"��E$�������$B�(+/88,���&
�1��� �1�� 0����� 3��5�� $�� �1�� 2���� 0��� 2�&�� ���
2����������������2�3�������������1��2����0���%$���	
!1��4�;��$�&��0�������31�������������������&���0�5
���$3���0����5$44$�%�$�����3�$�������1��%1� �$���
(+//-,�3��0$�4���1��$4������3���0��1�������0
�5$44$�%�$�����3�$������$3��	����0����1��$�����3�$��
4��1���4����������31����1����������1��3����$3��
5�&��0��5$44$�%���$���$���1��0�����3��5�	
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!1���� �$00������ �5$44$�%� $�����3�$��
���%��44���5����3�4������0����1�$���00$3$��3&
$�� �1�� $�����3�$��� �0� �5$44$�%� ��$���� $�
�31���31$�����	�!5���9���$4���������%��44����0
�5$44$�%�$�����3�$���(+�����),�5����3�4�����
5$�1��������2�$�1������%��44���0������0� �1�
�5$44$�%� �31����� $�� :;�2�;���� (*,	� !1�
�9���$4������ ���%��44��� �$00����� 0��4� �1�
����2�$�1�������$��3�������������1���9���$4�����
���%��44����$00����� 0��4���31���1��� $�� �1�
�����$����0��5$44$�%�$�����3�$��	�!1��3������
���%��44�� (*,� ���� �1�� 0$���� �9���$4�����
���%��44��(+,�3���$������0�+*�3���������31�����$�%
0���C*�4$����������������$����0�+*���&���51$����1�
��3�����9���$4���������%��44��(),�3���$������0
+-�3���������31�����$�%�/*�4$����������������$��
�0�+*���&�	�F��������������31�$?����5�������%1�
$�� ���� �1���� ���%��44��	� �� ����%�%$3��
�9���$4�����$��51$31���31�%�����1���$����5�
����3�$2����5$44$�%�$�����3�$������%��44���5��
3���$����������0$��������1���$00����3��	�!1��������31
5���3���$�����������31���31$�������%���8����/�&����
����������$�%��1����3����3������0�-'���$4��&
�31�����0��4�:;�2�;��������$�����2��2�	���$�����
�1��2�%$��$�%��0��1�����%��44����1�������������
�1����$�3$������0��1��31$�����=���31�����1���2���
$�0��4����2���������$4������2�����1��3�������0
�1��������31�������1�$��5�$�����3�������1���2���
�2��$���	� !1�� 31$������ 0��4� �1���� �31����

 
Num eric 

m ark 
Descriptive 

m ark Task Award 

1 

N on-sw im m er 
W ater 
acc lim atisation  
leve l 1  

The ch ild  is  capable o f floating s tre tched on the w ater surface for 5  seconds , arm s 
s tre tched forw ards (a long s ide the body ). 
The child floats on h is /her chest, head dow n in  the w ater.  

B ronze S ea 
U rchin   

2  

N on-sw im m er 
W ater 
acc lim atisation 
leve l 2  

The ch ild  sw im s  for 8  m etres  in  a  free technique w ithout in terruption and w ithout 
touching the bottom  of the pool, the edge of the pool or another swim m er. The 
sw im m ing s tarts  in the w ater.  

S ilver S ea 
U rchin  

3  

N on-sw im m er 
W ater 
acc lim atisation 
leve l 3  

The child  sw im s  for 25 m etres  in  a  free technique w ithout in terruption, w ithout touch ing 
the bottom  of the pool, the edge of the pool or another sw im m er. The sw im m er can 
cover the d is tance in  one d irec tion, and in  shorter pools  in  both  d irec tions . The 
sw im m ing s tarts  in  the w ater or w ith  a  jum p into  the w ater, but the d is tance should  not 
be shorter than 25 m .  

G olden 
S ea U rch in 

4  

N on-sw im m er  
W ater 
acc lim atisation 
leve l 4  

The child  sw im s  for 35 m etres  in  a  free technique w ithout in terruption, w ithout touch ing 
the bottom  of the pool, the edge of the pool or another sw im m er. The sw im m er can 
cover the d is tance in  one d irec tion, and in  shorter pools  in  both  d irec tions . The 
sw im m ing s tarts  w ith a  jum p into  the w ater. 

L ittle  
D olph in  

5  

S w im m er 
W ater 
acc lim atisation 
leve l  5   

the sw im m er sw im s  for 50 m  s tarting w ith  a  jum p, sw im s  in  one d irec tion for 25 m , 
turns  around w hile  sw im m ing and continues  sw im m ing tow ards  the fin ish. W hile 
sw im m ing the second 25 m , the sw im m er stops  in  the m idd le  of the pool and does  the 
so-ca lled safety  exerc ises  – from  a ly ing pos ition on h is /her ches t he/she turns  through  
the upright pos ition in to the ly ing pos ition on h is /her back , repeating the procedure 
through the upright pos ition back  into the prone pos ition –  then the sw im m er continues 
sw im m ing to  the fin ish line.  

B ronze 
D olph in   

S o u rc e:  Ju���������	�
����
��������

T a b le  1 : S wim m in g  sk ills  a sse ssm en t sta n d a rd s  
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����$3$������$���1��$��$�$�����%����������1��2��$�
�0��1�$��5$��$�%��������3���������$���1��������31	
!1���31������1���5�����2�������������1�$��3������
����1���5$44$�%�3�������1����������0��������%��
���$����0��$4��5��������$��%�����)���1����1����
1�5������5���������4�&�3����$0$���$��%������*����
+	�!1���9���$4����5���3���$�������$���1���31���.
&����+//<G/8�����������$���0��4��3��2����������
$���1��!$���$�$�������5$44$�%�������$��:;�2�;���	
!1���4�������5$44$�%������5���0��4�*	8�4����+
4������������1������1��0��1�����%������5���0��4
+	8�4����)�4	�!1��5�������4���������$��2��1������
5���)8H��������1���$����4���������5���'*H�	�!1�
�5$44$�%� $�����3�$���5��� 3����3���� 2&� )<
�5$44$�%�$�����3�����5$�1��$4$����31���3���$��$3��
���$�$�%�(8*�I�1����1���$�����0�$�����3����+��33���$�%
����1��#��������3����$0$3��$����0�;�2��$�������,�
�9���$��3��(<'	'�I�1���������'�&������0��9���$.
��3�,�����4������5����(�1��4�;��$�&�1������%1�
0���)�&�����5$�1����$��������$��,��������3��$���(6<
I�5��������������0��1�� �3���&��0������,	�''�I��0
�1���5$44$�%�$�����3�����5����0�4���	

!�������4$����1��2��$3��5$44$�%���$�����0��1�
��2;�3�����4��$�$�$���������5���������	����&��1�
��2;�3���51��%���4����+�$���1������$�%����3������
(!�2���+,�5����$�3������$���1�����%��44������
�1�����31�%����=��4����4�����0��5$44$�%���$���
5���$�$�$���&��$4$���	��33���$�%�����1����������42��
�0�31$������51������������$���1���5$44$�%�3�������
��4����6*�I��0�31$������1�����31������0$3$��3&
�����	������1����2;�3���5�����������2&��1����4�
���4��0��5$44$�%�$�����3����	����&��1�����������0
�1����51��5��������������������1���9��3$�����$��
5����3���$�����	�(!1��4��������.����$�������1�
%������5���)+	+�I���������2���3�,	�!1����42��
�0���2;�3���5���'<*	

 ����1��������4�����0��1���5$44$�%���$�����0
�1���������2;�3���5��$4���4�������1�����������
51$31� 1���� 2���� ����� $�� ������$�� �$�3�� +
�����42���+//<�(�������
�����7��������+//8,	
 ����1�����������0�����������31�5���������-.
�������3����3����$�$�%��00$3$�������������0��4�+���
-�(!�2���+,	��$�3��+/8/��1����4����������3�4��.
���3&��0��1�������������������-�1���2����3���$�����
��������������0���$����$0&$�%����$��$�$���������
�5$44���(J$����
���������K����7���������+//*,	

>1��� $������3$�%� �1�� �9���$4�����
���%��44����5���4�1��$�����1��%������$�&��0
$4���4���$�%� �1��4��1��$3��� ��$���� ���� �1�
$4�����4���� �0� �1�� �5$44$�%� ��$���	� !1�
���%��44��3����$�����5����������0��5$44$�%
$�����3�$�����1��0$����-��9��3$�����$����0���������
4����� ����3������ �0� �1��2������������� ���� �1�
��3����-��9��3$�����$����0�3�42$�$�%�5$�1�4����
��$������$�%��1��2�����������	� �����31��������0
�5$44$�%�$�����3�$������������%������0����$�$�%

5���� ��0$���	� !�� ���31� �1�� ���%��� %����� +6
4��1��$3�����$���5�������������$4������	��������&
��� 0��4� �1�� C�1� ��$�� ��5����� �1�� 31$�����
���%��������������3�$����$���1�����%���5$44$�%
����	�!1��%������3���$������0�8����.�5$44���
����$�����3�����2����1�����3�$3��5�����������$����31
��5�&��1����1��$�����3����3�����3�42$����1����$%$���
%������$�������%���������������$���1�4����$�����4�����
%�������������$�%�����1�����0$3$��3&��0��5$44$�%
��$���������1��$�����3�$������%��44�	��������0�%����
�9��3$����5����$�3������$���1�����%��44���4�$��&
$���1��0��4��0�%�4�����2���3���3������������&�����
���$�$�����������5$�1����3$���%����	����$�$����$���$��
5��������$4���4���������$�%��1���9��3$���	�!1�
31$������5$�1��$00$3���$���$������$3�����4�������$���
5��������������0��4��1��4�$���3�$�$�$�������%$���
���$�$����� ������� ���� �1��� �1�&� ��������� ��
���3�$3$�%��1��4�$���3�$�$�$��	�!1��$���%���$������
�1���$�$�$����0��1��%���������2�����������$00�����$���
2��5�����1��%�������������51$31�������?���$�&���
�1��$��$�$����$���$����0��1�����$�$�%	��5$44$�%���$���
5�����������0�����$4������%���0���2�3������1�
�00�3�$��������0��1��$�����3�$������������3����%�
�1��31$�����	�����1�����%��44���0��1��3�������%����
(*,��1������$�%��0��1���5$44$�%���$������������3����
�1��2�%$��$�%�(+����9��3$�����$�,���������1������(/�1

�9��3$�����$�,	�����1���9���$4������%�������1������$�%
5��������3���$�������$���1��6�1�����<�1��9��3$��
��$���($����4��$����3��������5��������$������3��
$�� �1�� 3������� %������ �$�3�� �1���5����� 1���
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Table 2: Difference in final swimming skills according to gender  
Group N �2 df p-level 

(2-sided) 
all groups 370 15.026 4 .005 
control group (0) 129 10.964 4 .027 
experimental group (1) 125 5.676 4 .225 
experimental group (2) 116 3.915 4 .418 

 

��������	��
������
	����������	�����
�������	�������������� �!"�##			 
$���$���%&�''()**+,�+�-.+/

-

�������

!1�� 3�4���$���� �0� �1�� �5$44$�%� ��$���
2��5����%��������1�5�������$��$3���&��$%�$0$3���
�$00����3���$���1������3������0��1��4�����%$������
2�&������%$����(!�2���),	���0���1�������&�$���0��1�
����3�������0�4�����0����1��0$�����5$44$�%���$���
%$�������2��1�%�������5���4����0�����31�%����
���������&�������1�����������1�5����$%�$0$3���
����$��$3����$00����3������&�$���1��3�������%����	

!1��3�4���$�����0��1�����0��4��3���3�����0��
�1��0$�����5$44$�%���$����$���1��3�������%�����(!�2��
',��1�5����1����33���$�%�����1�$�������$�����42��
$���1��%�������1��%$����5����%$������4�31����%��
��42����0�4����-��1����1��2�&����������$���&��$4$���
���3����%���0��1��2�&�������1��%$����%���4����6�
51�������1����5���4�����5���������$���&�4���
0��?�����&�%$��������1��2�&�	������%�����42����0
%$����51���2��$�����1��1$%1����4����5�����2������
$��2��1��9���$4������%����������	����3���2��$�0�����
0��4��1�����������1����$%�$0$3��������$��$3����$00����3��
$���1��0$�����5$44$�%���$�����0�2�&������%$��������$�
0�������0��1��������	

!1��3�4���$�����0��1���$���$2��$����0��������
�0�0$�����5$44$�%���$����(!��,�( $%����+,��1�5��
����$��$3���&��$%�$0$3�����$00����3���(�L	*+8,�$���1�
�5$44$�%���$����$���1����2;�3���51������$3$�����
$���1���$00���������%��44��	�!1����5������$%�$0$3���
����$��$3����$00����3��$���1��0$�����5$44$�%���$���
2��5�����1����2;�3���0��4��1��3�������%��������
�1���9���$4������%������(2��5����*�����+��L	*')@
2��5���� *� ���� )� �L	**<,	� ��� �$%�$0$3���
�$00����3���(�L	-8<,�5����0�����2��5���� �1�
�9���$4������%����������$����1���$00�����������$��
�0��1�����%��44�	��33���$�%�����1����42����0
�������2;�3���0��4��1��%�������4�����������2;�3��
0��4��1���9���$4������%������%�$������1$%1���4���
$���1��0$�����5$44$�%���$����(4�����'��6��-@� $%���
+,	���3��3���$���3��� �1���0����2�����5���1��
�$%�$0$3�����$00����3�������$��0�������0��1������
��2;�3���0��4��1���9���$4������%������������1��
�1�� ����� ��2;�3��� 0��4� �1�� �9���$4�����
���%��44���5����4������33���0���$���1��0$���
����$�%��0��5$44$�%���$���	

�

��

��

��

��

��

��

��

	


��
������� ���������
������ ���������
������

�����

� � � � �����

                      FSS - Final Swimming Skills (Table 1 standards)
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  Gender (GEN) 

Mark 
  Male Female 

Sum 

FSS 1 f 7 3 10 
  expected f 6.357 3.643 10 
  % within FSS 70 30 100 
  % within GEN 8.537 6.383 7.752 
 2 f 17 4 21 
  expected f 13.349 7.651 21 
  % within FSS 80.952 19.048 100 
  % within GEN 20.732 8.511 16.280 
 3 f 24 7 31 
  expected f 19.705 11.295 31 
  % within FSS 77.419 22.581 100 
  % within GEN 29.268 14.894 24.031 
 4 f 4 2 6 
  expected f 3.814 2.186 6 
  % within FSS 66.667 33.333 100 
  % within GEN 4.878 4.255 4.651 
 5 f 30 31 61 
  expected f 38.775 22.225 61 
  % within FSS 49.180 50.820 100 
  % within GEN 36.585 65.957 47.287 
Sum  f 82 47 129 
  expected f 82 47 129 
  % within FSS 63.566 36.434 100 
  % within GEN 100 100 100 
 

Table 3: Control group final swimming skills according to gender 

FSS - Final Swimming Skills (Table 1 standards) 
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